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WIER MPULT 2R SR TR N ER S ES

% # B - IRk B ¥ = B i & & =
BRI 159,133,980 + 12,316, 677 171, 450, 657
EEAGE 159, 133,980
EERE 12,316,677
Z Ot R 159,133,980 x 42.86% ( 30% = (1 — 30%) ) 68,204, 823
e L 171, 450, 657 + 68, 204, 823 239, 655, 480
—REERS 239,655,480 x 53.85% ( 35% <+ (1 — 35%) ) — 9,955 129,044,520
KBS 239, 655, 480 + 129, 044, 520 368, 700, 000
HBGEELE 368,700,000 x 10.00% 36, 870, 000
RBERREH 368, 700,000 + 36, 870, 000 405, 570, 000




BENREK NI TS TR R RS R T

% L BRig - BIRTE Bifi % = B ® % m =
BRI 171, 450, 657
MBLUTEEFRE TR R EHES 171, 450, 657
MU T EEFR KRR S ES 171, 450, 657
EEAGE 159, 133, 980
ETREHERHEMESE 158, 364, 480
1 BETIKRERR RS BERME., HARE I 24.00 4,968, 840 119, 252, 160
A
2 BITRREREEBSE HLRMEL 24.00 814, 840 19, 556, 160
A
3 BIKRHEREEBSE H LR E T 24.00 814, 840 19, 556, 160
A
HEE 684, 000
4 TEE 24.00 28,500 684, 000
]
s - |mE 85, 500
5 & - S 3.00 28,500 85, 500
@l
EEEE 12,316, 677
EHARE 1,564, 492
6 EHARE 1.00 1,564, 492 1,564, 492
=
BEHEKERREE 3,128, 985
BHEERN 1.00 3,128,985 3,128,985
=
XHAEDESN - EnEE 3, 600, 000




BERNRE NI TS TR R RS R T

% L Bk - BRI B % = B ® % wm =

8 RBEABEBEEN - BEREF 1.00 3,600, 000 3, 600, 000
=

*ERAEHZERARVERES 3,823,200

9 EBAEBEEHRVERES 1.00 3,823, 200 3,823,200
=

FHEHRRE 200, 000

10 £BFRRAE 1.00 200, 000 200, 000
=
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E#5:1
&% MIKRHERENERST TEHNE. HI3BWE 1 178%Y (A)
% b R - K& BAGT H = B O ® # W E w =
BERME HiERA
A 1.40 57, 000. 00 79, 800
HELEMTE HiERC
= 6.00 814, 840.00 4, 889, 040
=1 it 1YE%8EH - 1.008 4,968, 840. 00 4,968, 840
&5 :2
A MIKRHERENERS ELENED 17A&Y (1A)
% L R - KT BARL B = B O ® # wm E w =
LR E HEmC
=® 1.00 814, 840.00 814, 840
& it 1YE%8EH : 1.008 814, 840.00 814, 840
H#5:3
2 MIKRHERENERSE HLHEHED 17A&Y (1A)
% L R - KT BARL B = B O ® # wm E w =
S ERE HEmC
=® 1.00 814, 840.00 814, 840
& Bt YEZEBEN - 1.008 814, 840.00 814, 840
&5 : 4
2% fTEE 1]
% b R - KT By B = B O £ B W E B %
TS HEMA
A 0.50 57, 000. 00 28, 500

& &t YEEEEA - 1.00[E] 28, 500. 00 28, 500
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E#5:5
B g - e 108
% b R - K& BAGT H = B O ® # W E w =
BERME HiERA
A 0.50 57, 000. 00 28, 500
=1 it YEZHERD - 1.00[E 28, 500. 00 28, 500
EF5:6
&% EHERARE 1Ly
% L R - KT BARL B = B O ® # wm E w =
EHERARE
=® 1.00 1,564, 492. 00 1,564,492
& it {YE%8ERH : 1.00=X 1,564, 492. 00 1,564, 492
&5
&% BEHERN 1KLY
% L R - KT BARL B = B O ® # wm E w =
EERERAN
=® 1.00 3,128, 985.00 3,128,985
& Bt 1EZEEAN - 1.00K 3,128, 985. 00 3, 128, 985
&5 :8
&% XBEHEEEES - EREE 1=
% b R - K& BARL #H = B O £ B W E B %
EXBABTEEN
= 3.00 1, 200, 000. 00 3, 600, 000
& &t 1EZEEA - 1.00K 3, 600, 000. 00 3, 600, 000
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E#5:9
& EBRASEEENRVUERES 1%
% b R - K& By = B ® # # w =
EBEAEHEEHRVERE
= 1.00 3,823, 200. 00 3, 823, 200
=1 &t YEZHERN 1,00 3,823, 200. 00 3, 823, 200
&5 :10
AW EBEERERE 15
£ L R - KT By = B O ® # # w =
EBRRERE
= 1.00 200, 000. 00 200, 000
& &t 1E%EeH - 1.00K 200, 000. 00 200, 000






